Jb i A Vihennys enintdén 10 (vaaka)

Nimi: Paivamaara: _ Pisteet:
2-1= 6-2= 10-8 = 4-1=
5-3= 10-5 = 63 = 6—2=
§—3= 10-6 = 7-3= 10-2 =
7-1= 5-3= 6-2= 6—4 =
108 = 7-4= 104 = g —4 =
9-3= 10-1= §—5= 4-3=
7—4= 10-7 = 7-2= 10—1 =
6-5= 9-3= 8 —17 = 7-5=
7-6= 9—4= 5-1= 10-2 =
§—5= 7-1= 6—4= 9-5=
5-3= 5—4= 6-2= 4-3=
9-2= 9—4= 10-1= 3-2=
g8 —5= 10-8 =
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c\.%b i A Vihennys enintdén 10 (vaaka)

Nimi: Paivamaara: __ Pisteet:
2-1=1 6-2=4 10-8=2 4-1=3
5-3=2 10-5=5 6-3=3 6-2=4
8-3=5 10-6=4 7-3=4 10-2=38
7-1=6 5-3=2 6-2=4 6—4=2
10-8=2 7-4=3 10-4=6 8—4=4
9-3=6 10-1=9 8—5=3 4-3=1
7-4=3 10-7=3 7-2=5 10-1=9
6-5=1 9-3=6 8—7=1 7-5=2
7-6=1 9-4=5 5-1=4 10-2=38
8 —5=3 7-1=6 6—4=2 9-5=4
5-3=2 5-4=1 6-2=4 4-3=1
9-2=7 9-4=5 10-1=9 3-2=1
8—5=3 10-8=2
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